INTERNATIONAL PERFORMANCE ANALYSIS

I. Objectives and Calculations


A. Objectives

· To determine an international investor's _________of _________ on an investment over a given holding period.

· To explicitly consider _________ rate gain or loss in return calculations.


B. Calculations

· Let:

Rd,t = the total rate of return in ________currency ‘d’ over period ‘t’;

Pj,t = the value of an asset at time ‘t' in _______ currency 
Dj,t = dividend flows while holding the stock over time ‘t'; 

Cj,t = coupon interest flows while holding the bond over time ‘t'; 

Sj,t = the current __________ rate for currency ‘j’, at time ‘t'.

pj,t = percentage price change of the asset over time ‘t; 

dj,t = percentage dividend yield over time ' t'; 

ij,t = percentage current yield over time ‘t';

sj,t = percentage change in the exchange rate over time ‘t'; 

fxj,t = percentage return on asset and cash flow after translating returns into domestic currency;



1. Review Domestic HPR

· Remember:




(a) For a stock (long)

Ri = (P1 + D1 ‑ Po)/Po



(b) For a bond

R1 = (P1 + AIl + Ct – Po – AIo)/ (Po + AIo)

AI1 =

AIo=

Ct =



2. International HPR

· The total return in a base currency= ________ gain component (pi,t) + ______ or current yield component (dj,t or cj,t) + the ________ component (fxj,t).




(a) For a long stock (from t=0 to 1)

(P1 x Sj,1 + Do x Sj,1 -  Pj,o x Sj,o)/(Pj,o x Sj,o)

or

Rj,l = pj,1 + di,1 + si,1(1 + pj,1+ dj,1) = pj,i + dj,1 + fxj,1



(b) For a bond (from t=0 to t= 1)

Rj,l = (Pj,l x Sj,l + AIj,1 x Sj,l + Cj,t x Sj,1 – Pj,o x Sj,o – AIj,o x Sj,o)/(Pj,o x Sj,o + AIj,o x Sj,o)

or

Rj,1 = Pj,1 + AIj,1 + sj,1(1 + Pj,l + AIj,1) = pj,l + dj,1 + fxj,1
· For example:
Assume that at t=0 a U.S. investor purchases a Japanese stock with yen. The stock cost 6,290.69375 yen (the current exchange rate is 145.63 yen/$).

At t=1 the stock is sold for 6,414.84375 (assume the yen/dollar is 115.67 at that time). The stock paid 14.49 yen in dividends at t=1.  

1. Analyze the component gains/losses and overall return for the U.S. investor; investing in Japan. 

2. How would the analysis change if it were in consideration of a 

Japanese investor investing in a U.S. company? 

II. Other Considerations

(a) How does the introduction of taxes impact the calculation of returns?

Example (Same as above except with taxes added)

Assume that at t=0 a U.S. investor purchases a Japanese stock with yen. The stock cost 6,290.69375 yen (the current exchange rate is 145.63 yen/$).

At t=1 the stock is sold for 6,414.84375 (assume the yen/dollar is 115.67 at that time). The stock paid 14.49 yen in dividends at t=1.  Assume the country in which the investment is placed levies a 15% withholding tax and both countries impose a 50% tax on gains from trading in currency.

1. Analyze the component gains/losses and overall return for the U.S. stock investor. The U.S. investor is taxed at 50% on income and 20% on capital gains; the withholding tax can be used as a tax credit.

2. How would the analysis change if it were in consideration of a 

Japanese investor investing in a U.S. company? The Japanese investor is

taxed at 60% on income and 10% on capital gains; the withholding tax can

be used as a tax credit.



(b)  What impact do you think commissions would have on returns?

Homework

On 11/29/99 you purchase a 5,000 par value bond denominated in FF.  They bond pays a 7 1/2% coupon rate, semi-annually on 6/15 and 12/15 of each year.  At the time of purchase the bond was selling at a premium above par = 112% and the exchange rate was 0.5678 FF/US.  Later on March 15th, 2000 you sell the bond for 105% of par at which time the exchange rate is 0.5999 FF/US.  French and US gov'ts tax FX gains at 50% and both allow a 15% with holding tax.

(1) Assume you are French.  You purchase the bond in the US denominated in dollars.  Evaluate your component gains and losses including the overall return.  Assume capital gains are taxed at 25% and income is taxed at 40%.

(2) Assume you are American.  You purchase the bond in the France denominated in FF.  Evaluate your component gains and losses including the overall return.  Assume capital gains are taxed at 20% and income is taxed at 45%.

 HINTS:

*Interest payments are considered income

*Need to calculate accrued interest for the period of time the bond is held.

*2000 is a leap year.
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